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Gúıa 4: Dinámica

P1. a1 = g

(
4m2m3 − m1(m2 + m3)
4m2m3 + m1(m2 + m3)

)
, a2 y a3 propuesto.

P2. F = g(M + m1 + m2)
m2

m1

P3. a = mg sin α

M + 2m(1 − cos α)

P4. a) Depende del signo de a.

b) a = g

(
m sen β − M sen α

M − m

)
c) T = Ma + Mg sen α

P5. a) -

b) θ = arcsin( M

2m
)

c) a = 0

P6. a) asilla = apintor = g
(

Z + 2W − K

K − Z

)
b) F = 2W

(
K + Z

K − Z

)

P7. a = g

(
1 + 2M

m
· cos θ

sin θ
· cos θ + µ sin θ

sin θ − µ cos θ

)−1

P8. Si alcanza a chocar, y no habrá derrame de petróleo.


